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Directions. for the following 15 (fifteent.
items ; '

Head the following three passugr:s:

and answer the items thal follow eoch |

passage. Your ansidérs 10 fhesé ltems
should be baosed. on the possagey only.
Passage - 1

Education, without a doubi, has. an
impartant funetional, instrumental and
utilitarian. dimension. This is revealed
wlhen one askd guestions such as “what is
the purpivse.of education 2. The. answers,
too often, are to acguire gualifications
for employmient/upward mobility’,
‘widershigher terms  of  income)
opportunities’, and “to meet the needs for

fin

trained human power in diverse fields for
national. development’. But in its deepest
sense education is nod instrumentalist
That' is to say, it is not to be justified
guiside of ifself because i leads to the
wequisition of formal ckills or of cerlain
desired psychologieal — social attributes. 1%
must be respecied in itself. Education ig
thus net a ecommodity to be acquired or
posseased: and then used, but a process of
inestimable importanes t6 wndividuals and
gociety, although it can and.does have
enormous use value, Educsdtion then, iz a
process of cxpansion and conversion, not
in the sense of converting or turning .
students into.doctors or engineers, but the
widening and turning out of the mind —
the creation, sustenange and development;

of self-critienl Awareness ang
independence of thought! It is an
inner ‘progess of wmoral - intellectual
development.

Q-MDF--8

L2 - Aj

What. do  you understand Ej,z the
‘nstrumentalist’ view of education ?

(a) REducation iz functional  add

(b} Eduocation is mweant te fulfll haman
neads,

¢} The purpose of education is to train
the human inteliect.

(dy Education is meant. to dchieve moral ~

development.
Aceording to the passage, edpeation
must he respected in itself because
(&} it helps to aciiiire qualifications for
srployment..

(b} it helps in upward mebility and

acquiring sotial status,

(e) 1% is an inner process of maval and
intetlectual development,

{dy Al the (a}, {}j'}. and {c} given absve

art correct in this context.

Education is o process $ which

{a) studenis are converfed inte traimed

profosgionals,

{b) opportunitiez for higher income are
generatad,

{¢} individusls  develop  self-critical
awareness  and independence of
thought.

(d) qualifications for upward mobility

are agguired..
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Passage - 2

Chemical pesticides lose their role in
surtainable agriculture il the pesis evolve
vesistance. The evolntion -of peaticide
resislance is simply natural selection in
action. It is almnst certain to sceur when

vast numbers of & genetically variable |
population are killed. One or a fewi

individuals may be unusually resistant

{(perhaps hecause they possess an enzyme |
that can detoxify the pesticide;. If the
pesticide s applied repeatedly, each |

successive gerieration of the pest will

contain a larger proportion of resistant

individuals. Pests typically have a high
intrinsic rate of reproduction; and so a
fow individusls in one generation may
give rise to hundreds or thousands in the
next, and résistance spreads very rapidly
in 4 population.

This prablem was often ignored in the
pist, even though the first case of DT
(dichlorodiphenyltrichloroethans)
registance was reported as carly as 1948,
There 8 expencntial incresse. in the
-bumbers "of invertebrates that have
-evolved resistance and in the number of

‘pesticides againgt which resistunce hus.

evolved. Resistance has been recorded in
cevery family of arthropod pests (including
dipterans such as mosguitoes and house
flies, as well as beetlos, moths, Wasps,
fleas, lice and mites; as well as in weeds
and plant pathogens. Take the Alabama
leafworm, & moth pest of colton; as an
cxample. It has developed resistance in
one ar more regions.of the world to aldrin,
PDLUT, dieldrin, andrin, lindane and
toxaphene. '

If chemival pesticides brought nething

but problems, — if {heir use was
intrinsieally and scutaly unsugtainable —-
then they would already have fallen out

of  widespread wuse. This has not
happened.  Instead, their rate of

L

{4 - A}

production has -increased rapidly. The
ratic ol cost to benefit for the individaal
agriculiural preducer has remsined in.
favour of pestivide use. In the USA,
insecticides have been estimated to
benefit the agricultural producls to the
tune of around $5 for every $1 spent.

. Moreovér, in mgny pooTer couniries,
the prospect of imeninent mass starvation,
er of an epidemic disease, are so
friphtening that the social and health
costs of using pesticides have o be
ignored. In general the wuse of pesticides is

Justified by objective measures such as.

dives saved’, ‘economic efficiency of food

‘production’ and ‘total fosd produced’. I

these very fundamental senges, their ure
may be described a8 sustainable, In
practice, sustainabilify depends on.
continually developing new pesticides
that keep at least one step shead of the
pests  —  pesticides  that are  Tess
persistent, biodegradable and more
accurately targeted at the pests.

“Fhe evolution of pesticide resistance is
natural selection ro action,” What does it
actually imply ?

fal It js very natural -for many

organisms  to  have  pesticide
reésistance.

th)  Posticide resistance armong
Organisms is a universal
phenomenon,

(c} Some individuals in any given
pepulation show resistance after the
application of pesticides.

{(d} None of the statements (=), {4 and
{r} given above i3 correct.
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With reference to the passage, consider

the. following statements ;

1. Use of chemical pesticides lias become
imperative in all the poor couniries of
the world,

2. Chemical pesticides should not have|
any rolein sustainable apriculture.

3. One pest can develop resistance to|
many pesticides; .

Which of the statements given above|

is/are correct ? '

(ay I and 2 only

(h) 3 only

(c) 1 and- 3 only

{(d) 1,2and 3

Though . the problems associated with the.

use of chewmical pesticides is known for a

long time, théir widespread use has not

waned., Why ?

{zj Alternatives to chemieal pesticides

do not exist at all.

(b} New pesticides are not invénied at

all.

(¢} Pesticides are biodegradable.

(d} None of the statements {a), (b) and

fc) given above is correct.

How do pesticides act as agents for the

selection of resistant individuals in any

pest population 7

1. It iy possible that in a pest population
the individuals will behave differently
dae Lo their genetic makeup;

Z. Pests do possess the ability to detoxify
Lhe pestizides.

3. Evolution of pesticide resistance is
equally distributed in pest population,

Which of the statements given above

is‘are correcl 7

ta) 1 only ,

) 1 and. 2 only

(¢} 3 anly

(dy 1,2 and 3

Q-MDF-M'8

(6 - A)

Why 1z the usé of chemical pestlicides
generally justified by giving the examples

of poer snd developing couniries ?

I. Developad countries can afford to de
away with use of pesticides by
adapting to organic farming, but it
is imperative for poor and
developing countries to use chemical
pesticides.

2. In poor and develeping countries,
the pesticidé addresses the problem
of .epidemic diseases of crops and
eases the food problem,

3. The
pesticide use are generally ignored

social znd health costs of

in poor and déveir}uping countries.
Which of the statemenis given above
isfare correct 7 '
(a} 1 enly
by 1L and 2 only
e} 2 only

(dy 1,2 and 3

What does the passage imply ?

(@) Alternative oplivhy to chemical

pesticides should be prometed,

(b) Moo much use of chemieals is not
gond for the ecosystem.

the-

ang

(¢} There is no seope  for

improvement of pesticides
making thei¥ use sustainable,
{d) Both the statements {a) and ()

o

above are correct,
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Pasun g3

Today's developing cconomies use
much less energy per capita than
developed couniries such as the United
States did at similar ineomes, showing
the polential for léwericarbon growth,
Adaptation and mitigation necd to he
integrated  inte a  climste-smart
development  stralegy thal  increases
regilience, reduves the threat of further
glohbal warming, and improves
development outeomes. Adaptation and
mitigation  measures can  advance
developirient, and prosperity can raise
incomoes and foster betier inetititions, A
healthier population living in better-built
houses and with access to bank loans and
sacial secutity is better equipped to deal
with & changing eclimate and its
eonsequences. Advancing robust, resiliont
development  policies  thdt  promote
adaptation is needed today because
changes in ‘the climale, already begun,
will increase even in the short term,

14,

The spread of sconomic presperity has
always been intertwined with adaptstion
to changing ecological conditions. Bat ag
growth has alfered the envirenment and
as environmental change has accelerated,
eustaining  growth and  adaptability
demands preater zapacity to understand
our enviranment, generate new adaptive
technolegies and practices; and diffuse b
them widely. As economie historians have
explained, much of humankind’s creaiive
potential hay heen directed at adapting to
the changing world. But adaptation
camnotl cape with all the impacts related
te climate change, especially as isrger
changes wnfold in the long term,

Q-MDF-M:8 : (B - A

Countries cannot grow out of harm's
way fast enough to mateh the changing
climate. And somsé growih strategies,
whether deiven by the pevermment or the
market, can alsc add to vulnerability —
particulnrly if they overexploit natural
resources.’ Under the Soviet developrment
plan,  irrigated  cotton  cultivation
expanded in wuber-siressed Central Asia
and led to the near disappearance of the
Arsl Sea, threatening the lvelihoods of
fishermern, herders and farmers. And
clearing mangroves — the natural coaztal
buffers against storm surges — to make
way for intensiviy farming or heusing
development, inergaeses  the physical
vulnerability of coastal settlements,
whether in Gined or in Louigiana.

Whichh of the following conditions of
growth ean ddd to vulnerabiliy ?

1. When the growth woceurs due to
excessive  exploitation of mineral
respurees and forests.

2. When the growth brings about a
change in  humankinds croative
potential.

3. When the growth is envisaged only for
providing houses and social security io
the peaple.

4, When the growth oecurs due o
emphasis en farming only:

Belect the correct answor using the codes

given halow

fa) 1 only

(k) 2,3 and 4 only
(e} 1 and 4 enly

(d) 1,2, 8und4




O-MBOE-M-B

e - 5

3 ¥ v g1 aaan Bereme srefagrentd whe

ag s vee 27 & 5 en-fs w g

xead ge O Sor fowr @ w2 4 ow SR

TG e PR W I 1 SaeeE

¥ Gt sl e Fedieer e B

ai. 3o YEETe W faoTE B, Gk ay
¥ TR SO 9 A 3 o g 3R WeR

q%nqhgwwm%&mmﬁm'

W 3R e FEm ¥ e @ A

firer A &, 3t wiffie g 3 W A 9% )

gl ¥ | T fife o ¥ w W o W
o ol wmfss e 3R do w9 oW

& gfaer o  adaan sy sl 7wt

¥ Fres @ e dew dlem R B 1 A
wrerde Tfi B A @ g

B srvaea & o srperaiten o demi |

¥ it W B S Terarg uhed® e ol
¥R A A R

i wyaar o TR HR W AREde
mitfruf oRRuB & 9 sggesie
& T W &) T ofs Y SRR walew @
ufeatEn foar ¥ o yuiawim afads Sa-3d

T v o R e o o @ awr
e WOl W sgpesenm wehfiReel ol

et Batia o= iR T ome ww g
freftm o &) argguma £ ) A B sie
sl A wrEn & F, v Sa #
W srppEEeE | e B SR T W
fiog 4F HETeR g, e & 6
T m A oy e s g, RrdmEs

s A s § e fraw ol

cleos

AEIR

9 — A

v gr IO oAl & g afe & Wt o =

o B | g & T weiladl, wE ¥ TR

] ER g dEied 2, W 8T Yad. @ ag

o ¥, Pwax oft 9 wplbe wemesi ®

ahshen s € of Towe Oem »
srererd men vErar e rar TETS o wiy
qa v @ T, iR wEERL, wEes #iR
gl B s dar § vz | el R
wfertens £, wr wew oy @ sl erw ©
R wam ® @, oRa wRed @t difie o
a2, o mg 6% o gefiaen
2 s A

forferfige # & i gie o oRRufr? S

g WEG & ?
1. = g o R el s ok st
o AT #ar € |

2. @ dhg W SR O e siadRe
¥ gitad o #
3. g afg W 6" oad W AEE WK

WM §EaT R S of A 8
-

4, 7@ ofE e BN R SR W R g 2
gl

%ﬁvm"ﬂgm?ﬁmmﬂmmiﬁz
{n) HIE }

th) @ 2, 33K 4

ey was 134 *

) 1,2 334



k1. What does low-carbon growth imply in{13.
the preszent contexs ?

1. More emphasis onthe use of renewable
sources of enarpy.

‘ 2. less emphasis on manulacturing
sec¢tor  and more ewmphasis  on
agriculture sector.

3, Switching over from monoculiure |
practices to mixed farming.

4. Less demand for goods and services.

Select the correch answer ‘using the

codes given below :

(b) 2, 3 and 4 only

fc) I and 4 enly

(d) MNome of the above implies

low-carbon gTuwt}‘

12. Which of the following conditions isfare
necessary for  sustainahle  economic
growth 7
i. Spreading of economic prosperily more.

2, _Papularisingfspteading of .adaptive|
technologies widely. s S

3. Investing on rescafch in adaptation
-and mitigation technologies.

Belect the correct answer using (he

codes given below |

(ay T only

(b} 2 and 3 only

tcy 1and 3 only

iy 1,2and 3

C-MDF-M-£ {10 - A

Which of the following inforences can be

made from the passage 7

1, Rainfed erops should not be cultwamd
in irrigated areas.

9 Farming under water-deficient arcas
should not he a part of developmorit
strategy.

Select the correct answer using the eodes

given below ;

(a} 1 only

(B, 2 only

(¢}l Both 1 and 2

(d) Neither 1 nor 2

Congider the Tollowing assumpiiens
1. Susfainahle &ﬁunamic grt}wth daman&s

A lnien{iwe agﬂculture lead 1o
solopical backlash..
3. Spread of ceonomic

adversely aﬁ"{:c't the

{an

prosperity  can
ecology and -

With mference ta the pasgage, which of
the above assumptions fs/are valid 7

fa} 1 only

(b} 2 and 3 enly

(el 1 and 3 only

(d} 1,2and 3

Which ome of the following statements

constitutes ihe central thome of this
passags ¥

ta) Countries with greater econpmic
prosperity are better equipped to
deal with the consequences of
climate changs. N

thy Adaptation and mitigation should be
integrated with development
strateaies,

(e} Rapid econoinic growth should not
be pursued by both developed and
developing econamies.

Some countries resart to
overexploitation of natural resources
for the sake of rapid develiopment.

(e
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Consider the following slatemients ;

1. All artists are whimsical

2. Svme arlists are drug addicts.

3. Frustrated peoplé are prone to bevome
drug addicts.

From. the above three statements it may

be coneluded that

(a} Artists are frustrated,

(6} Some drug addicts are whimsical,

(c} Al frustrated people are drug

sdeicts.
{d) Wlhimsical people
frustratod.

arc  generally

Examine the following statements ;

1. Either & and B are of the same-age or
Ais-older than B.

2. Either C and D are of the same age or
D is older than (.

4. Bis older than .

Which one of the following condlusions
can be drawn from the above statements 7
{a} A is older than B )
{b) B and D) are of the same age

{e) I} iz older than

{4} A is older than O

Examine the following statements

1. Only thuse who have a pair of
binoculars can become the members of
lhe birdwatcher's elub.

2. Some members of the birdwatchers
club have canteras. :

3. Thosc members who have cameras can -
take part in photo-contests.

Which of the following conclusions can be

drawn from the above siatements ?

{#) All those who have a pair of

bineculars are mambers of the

birdwatcher's eluh.

All members of the birdwatcher's

club have a pair of binceulars,

All  these who take part in

photo-conitests are members of the

birdwateher's elub,

No conclusion can be drawn.

{by

()

(d;

9.

20,

-

{12 - A}

During the last summer vacation, Ankit
wint 16 a summer carnp where he ook
part in hiking, swimming and boating:
This sammer, he is looking forward fo a
mivsic camp where he Ropis to sing, dance

-and learn to play the goitar.

Based on the above information, four
conclusions, as given below, have been
made. Which one of these lagically follows

from the information tfiven above ? .
{a) Ankits parents want him to play

the puitar.

(b} Ankit prefers’ mmsic to outdeor
aciivilies.

fel  Ankit goes to some type of camp

@Very surnmer,

(d  Ankit Jikes to sing and dance.

Three perzons A, B and C wore shirts of -
black, blue and orange colours {net
necgssanly in that order} and panis of
green, yellow and orange colowrs (ot
necessarily in thai order). No person were

shirt and pants of the same colour,

Further, it is given thiat

1. A did not wear shirt of black colour.
2, B-did not wear shirt of blue calour

3. C did not wear shitt of orange colour.
1. A did not wear pants of green colour
5. B wore pants of arange colour.

What were the colours of the pants and
shirt worn hy €, respectively 7

()
(b}
{c)
()

Orange and black
Green and blue
Yellow and hlac

Yellow and black.
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2h. o Ten new IV shows started in January — | 24.

\'%Lsiimms, d.drama and 2 news maparinos.
Ly-April, -only seven of the new shows wers.
Still on} five of them being sitcoms.
Based “onq_the _above information; four-
Cﬂnciusiﬁnbﬂakﬁjénh_ﬁé?ﬂ-w, ‘have been
made. Which one of‘these logically follows
from the information given gboye.?
(@} Only one news magazine show-je-sil]
B,
b} Only ons of the drama shows ja atill
on, _
{e) At least one discontimued show was .o

drama, 25,

{d) Viewersprefer siteoms over drama,
22. Read the passage given below and the two
statements that fellow (given on the basis
of the passapoe)
Four men are waiting at Delhi airport |
for @ Mumbai Right, Twe are doctors ang
the vther twe are businessmen. Two speak

Gujarat] and two speak Taril, No twn ol [26.

the same  profession speak the same|
language, Twu are MusHms and EWO Hre
Christidns, No two of the same religion
are. of the same profession, mor do they
gpeak  the  game language,  The
Tamjl-speaking doctor is a Christian.

1. The Christian-businessman speaks
Gujarati.

2. The (ujarati-speaking  doclor is a
Muslim.

Which of the ahove statements infare
correct conclusionfeanclusiona 7
(&) Ianly

b} 2only 27,

te) Both1and2
{d} Neither 1 nor 2
23,  Consider ihe following staterment :

“Though guite expensive, telovision is not

8 luxury item; as one ran learn many

things throngh television,”

Which ane of the following is a valid

inference from the shove statement ?

(a) All expensive things are regarded as

fuxpry, _ '

(b} All essential things. for learning are
_ notluxury.

(e} Television is essential for learning.

(d} Television iz nota haruryitem,

G-MDF-M-B

{14 — A )

Mr. Kamar drives to wirk &t sn average
speed of 48 km per hour, The time taken
to cover the first 0% of the distanrs ig

10 minutes more than the fime faken fo

cover the remaining distauee. How far is
bis office ?

{a} 30 km
{B). 40 km
fed 45 km
{dl 48 km

Gita is prettier than Sita but wet as
preity as Rita, Then,

{a) Sita is not a5 pretty as Gita,
{b) Sita is pretiier than Rita,

(¢} Rita is not as pretty as Qita.
(@) Gita is prettier tham Rita,
Given that,

1. A is the brother of B

2. 'Cis the fathor of A

3. Itis the brother of .

4. Eis the daughter of B,

Then, the unele of I i

fa) A
{by B
ey C
(dy

1. Eama scored more than Rani.
2. Hani scored less than Ratns,
3. Ratna scored more than Rama.

4. Padma scored more than Rama bt
less.than Ratna,
Whe seored the highest ¢

(a} Rama

(b} Psdmia ;
{e] Rani

{d} Eatnsa
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powers of dispersal of most species in the
face of the physical barriers thal exizt to

.}}'imtﬁans for the following 17 felecen)
itemis, s

. coriminitias, For

O-MDF-3-8

~Head the following three passages

and Giswer the items that Jollotw edeh

pass&ge.“}"onﬁ answers o these items

shotld be based on,the passages only,
Passage - §

Invasions of exotic. Speeies inlo new
Beographic  areas  sometimes nocur
naturally and without human HEENLy,
Bowever, human actisns have ncreasod

this trickle ty a flood. Human-canzod |
either |

Intreductions may crer
aveidentally as g tonsequence of human

transport, or intentionaliy ‘bug tHegally
purpose o
legitimatoly {o procure some hoped-far

lo  serve some private
public benefit by bringing a pest under
control, -producing new agricaltural
products av providing novel reereational
apportunities. Many introduced speciex
are  assimilated  inig communities
witheut much sbvious effect. Liowever;

-some have becn responaible for dramatic

changes o native species and natural
example, the
accidental introduction of the brown tree
snake foiga irregularis into Guam, an

igland in the Pacifie; has through nest !
predation reduced 19 endemic forest bird |

species th the point of extinetion.

Qne of the major reassns for the

world's  great bindiversity is  the
wecurrence of eemters of enderism so
Lhat similar habitats in different parts
af the world are occupieid by differens
groups of speciss that happer to have
evolved there. If every spocies ratyrally

bhad uccess to everywhere on the plobe,

we mighl expeel g relafively  gmall
nmumber of successfu} species 4 bocome
dominant in cach biome. The extent 1o
which this homogenizatioh can Lappen

naturally is restreicted. by the Hmited

28.

dispersal, By virtue of the transport
apportunities offered by humsans, these
barriera

have been bragchied by an
ever-inereasing number of eixotic species,
The effects of introductions have heen to
couvert @ hugely diverse range of local

b rommunity compositions intp something

much more homegenecus.

I would be wrong, however, to
conciude that intreducing species to a
region will inevitably eanse = dectineg in
species  richness there, Far examyples,
there are nwmercus spivied of plants,
mvertehrates and vertebrates found in
continental Burope but absent from the
British Isics ‘many because they have so

far failed t¢ reeoolonize after the last

glaciations). Their introduction would be
iikely to aupment British Fiodiversily,
The significant detrimental cffect noted
above aridcs where agyuresgive speeies
provide a ‘novel challenge to endemis
biotas ill-equipped o deal with them.

With reference 10 the passage, which of

the foliowing slatements is parrest ?

(a)  Introduction of exotic species into
new  goographieal  areas
leads to téduced biodiversity.

always

{h)  Exeotic species inf{reduced by man

inte new arcas have always greatly
altered the native ecpsyatoms.

{e}  Man i3 the oaly reason to convert B

hupely diverse range of local
sommunity compasitions inlo. more

homogeneaus ones.

td) Nome of the statements {a), (b and
{e) i8 correct in this context.
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30.
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(h)

(¢} Strong adapiation of

Why does man introduce exotic ‘speciés
into new gengraphical areas ?

.......

1. To bhresd exotic species with local

varietics.
2. To increase agricultural prodsuetivity.
3. For beautification and landscaping.

Which of the ahove statements js/are
correct ¥

¢ay Lomly -

(b} 2 and 3 anly

{@) 1l and 3 only

(el) 1,2 and 4

How is homogenizaiion prevented under _

naiurgl eandilions ?

fa) Evolulion of groups of . species

specific to loeal habitats.

Presence of oceans and mountain
ranges.

ai groups of
spectes ta local physical and climatic
conditions.

All the statements {a), (b) and {c)
giveri. above are ecorrect in  this
context.

{d3

How have the human beings influenced _
the bicdiversity 7

i. By smugghling Hve prganisms.

2. By building highways.

3. By making eccosytems sensitive =o
that new species are not allowed,

4. By ensuring that new species do not _

have major impact un logal speciea.
Which of the statements given above are
correct, 7
() 1and 2
(h) 2 and 3
fc} Iands
idi 2 and 4

32,

{18 - A )

cxatic species on an ecogysters ?
1. Ervsion of endemic s pecies.

2. Change in the spevies 'compﬂsiﬁinn of
the esmmunily of the ecosystem,

Select the correct angwer using the codes
given below -

() I only

(bl .2 anly

{c) Hoth-l and 2
{d} Neither ! nor 2

Passage - 2

Most champiocns of democracy have
been rather reticent in auggesting that
democracy itself  promote
development and enhancement of soeial

would

welfare - they have tendod ta sec them
as good bul distinctly separate and largely
independent goals. The deiractors of
democracy, an ithe other hand, seemed to
have been guite willing te express their
diagnesis of what they see as serious
between anil
development. The the
practical split — “Maks up vour mind : do
you want democracy, or inatend, do you.
want development ?” — oflen came, at

tensions. democracy

{heoristys  of

least to- starl swith, from Fast Asian
prew  in
mnfluence as several of ‘these colnlriss

eountries, and their voize
were immensely suecessiul — through the
19705 cand 1980s and even later — in
without:

promoting “economie  prowth

pursuing demoeracy,
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‘.!_ - T Ts cTen r ou s

To deal with these issues we have' to |
pay  particular  attention fo both the

content ofwhat can be called development

particular Ly the respective roles of voting |.
and of publi¢ reasoning). The assessment|
of developmeni caanot be divorced from |
the lives thal people ean lead and the real |

freedem that they enjoy. Development can.
scarcely he seen merely in lerms of
" epthancement  of inaﬂim;ite ohiecis of
comvenience, such as a rige in the GNP {or
in pergonal incomes), or industrialization
— important as they midy be ds heans to
the resl ends. Their valne must dépend on
what they do 1o Lthe hves and freedom of
the people invelved, which must be central
to the idea af devely pment,

If developmaent ‘is understood in a
breader way, with a focus on human lives,
then it becomes immediately clear: that
the relation between developmient and
democracy -has t0 be scen parily in terms.
pf their constitutive gonnectiom, rather
than only through their external links.
asked whether
“gondicive to develuipment”, we must nob

political freedom s

_ miss the crucial reéogriition that. politieal
hbertics and democratie rights-are among

the “eonstitient cornponcats”  of)
developrment.  Their  relevance for
development does net havée o be|
established  indirectly  threugh  their

sondribution to the growth of CNP.

34.

85,

20 - A}

According to the passage, why is 8 serious
tengsion perceived between democracy and

development by the defractors of
demoeracy ?
{a) Democracy and development are

distinetl and separate goals.

{b} Eeopomié growth ean be promeoted
successfuily  without pursuing  a

demoeratic system of governance,
{c)

Non-demoeratic  regimes  deliver
economic growth faster and [ar more

successiully than demoeeratic ones.
All the statements (a} (b} anmd )

piven above are corrett in thas
context.

{di

According to the passage, what should be

the uwitimate assessmentfaimfview of
developrnent ?
{a) Rise in ihe per capits income and

industrial growth rates.

{b) Improvement in the Human
Development [ndex and GNP,

{cy Rise in the savings and consumption
trends.

‘d) Fxtent of real freedom: thab citizens
enioy,

What does a “eonstilulive” connection
between  democracy  avd  duvelppment
imply 7

ta) The relation between them has to be

seen through external links.
(b Palitical and evil rights only can
lead to economic development.

{¢/ Political liberties .and. democratic
rights are azszentia]l elements of
devaibpment.

{d} None of the statements (a), {b) and
{0y given above I correct in this

pontext.
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Passage -3

The need for Competition Law.
beconies more evident when foreign direct
investment (FDI) ig  liberalised, The
impact of FDI iz not always
pro-comypetitive. Very often FDI takes the
furm of a foreign corporation acquiring a
domestic enterprise or establishing & joing
venture with one. By making such an
seyuisition the {oreign  inveator may
substantially lessen competition snd gain
a dominant position in the rélevant
market, thus chorging higher prices.
Anather scenario is where Lhe affilintes of
two  separate multinational compenies
(MNCs) have heen established in
compettion with one -another in =
particular developing cconomy, following
the liberalisation of FDL Subsequently,
the parent eompanies overseas merge.
With the affiliafes no longer rvemaining
independent, competition "in the hest
country may be virtually efiminated and
the prices of the products may be
artificially inflated. Most of these adverse
consequences of mergers and acoueisitions
by MNCs can be avoided if an effective
eompetition Iaw is in place. Also, an
econonty that hms implemented an
effective competition law is in a bettor
position & atiract FIX than one that has
nof. This is not just because most MNCs
are expected fo be accustomed ‘to the
operation of sueh a law ‘in their home
countries and know how to deal with such
concerns but alsa that MNCs expect,
eompetition avthorities o ensure a level
playing field between domesiic and
foreipm firms.

38,

a7,

| 32 < A )

Wilh referénce to the passage, consider
the following statements -

1. It is desirable that the impact of
Foreign Direct Investment should be
pro-eompetitive,

2. The eontry of foreign
invariably leads to the inflated prices
in domestic markets,

Which of the statements given above
isfdre correct ?

{a) 1 only

(b} 2 only

{c} Bath 1 and 2
{d} Neither § nor 2

Azcording o the passage, how does a
foreign investor dominate the relevant
domestic market ?

I Multinational companies gol,
accustomed to domestic Jaws, ’
2, Foreign  companies  estahlish Joifd

ventures with domestie companies.

3. Affiliates in 2 particulsar market/sector
loge their independence as their parent
COMBANIES O¥Erseds. ierge,

4. ¥oreign rvompanies lower the cost of
their products us compared fo that of
products of domestic companies,

Which of the ztatements given above are
correct 7

(a} 1 and 2 only
(b} Z and 3 auly
{#; 1,2 and 3 only

(dy 1,2, 3and4

investors -
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Q-IADF M-8

What is the ioferenice from this passage 7
1a) Foreygm investors and multinational
companics always  dominate tiie.
domesticmarket,

il is not in the best interests of the
-dernestic economy tu allow mergers of
companics.

With comipelition law, #t is easy to
ensure. a level playing field heiween
dornestic and foreign firms,

For countries with open SLONDMY,
Foreign Dirget Investment s eszential
for growth.

{b)
(e}

{d)

Examine the following statements

L. fwatch TV only if I am bored,

2. I am never bored when 1 have my
brother's esmpany.

3. Whenever I goto the theatre I take my
hrother aleng.

Which one af the following conclugions is

valid in the context of the above

statements ¥

(a} ¥ am bored, T watch TV,

b} -1 am bored, 1 seck my brather's
-cnmpamr

wateh TU
If1 2w not bored, [ do not-wateh TV,

()

{d}

Only six roads A, B, C, P, @ and R
connect & iilitary carp 1o the rest of the
eoumtry. Ouly one out of A, P and R is
open at any one timz, If B is closed, so is
Q. Only one of A and B iz -open during
storms. P is clpsed during flocds. In-this
vontext, which one of the following
statements ig correct ?

Under riormal conditions -only three
roads are open,

(a)

(b3
apern.

(¢} During floads. only three ruads are

open.

During calamities

closed.

(ed; a#ll roads

ure

During stetmsg at least one road. s

41,

42,

f 24 ~ A

farmula

{c}
{d)

Examine the fallowing statements ;

1. None but students are members of the
cliils..

%, Sorpe members of the elub are married
persons,

3. All married persong are invited for
danee.
Which ane m" the 'fullawmg -:'tmﬁ:luamns

Ta}

{b]

All studenils are invited for danve.

All married students of the {fi_zz_h HYE
invited for dance:

{c} Al members of the elub are married

personas,

(d} Nome of the wbove conclusions ean

bo drawn.

Four political parties W, X, ¥ and ¥
decided o set up 2 joint dandidate for the
coting  parhiamentary  elections.  The
agreed by them was  Lhe
acceptanee of a candidate by must of the
pariies. Four aspiring candidates, A, B, O
atnd I¥ approsched tho parties for theiy
tickats.

A Wag acecplablé to W bul not to Z.
B wasg aiceptable to ¥ but not to X,
C was gceeptable fo W and ¥,
I was :at:m-‘ptahle to. Wand X,

When candidsle B waa preferred by W
and Z, candidate C was preferred by X
and Z, and candidate A wasz acceptable
1o X but net to Y; who gol the ticket ?
(a) A

()

g0 @
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43.  Consider the following statenents : 45. The elements of the problem Ligurss given
A b helow are chianging with a certain rule ag
1 MI_ X-brand cars. parked here are we observe them from left to right :
white, _ -
2. Some of them have radial tyres, ]* ’ \ \\ M
’ . . . | : A — Hﬁ\""
3. All X-brand zars manufactored aftor T '
1986 have radial tyres, ~According to. this rule, which of the
- _ following would be the next figure if the
4. All cars are not X-brand. changes were continued with the same
rule ?
Which one of the following eonclysions hd
can be drawn from the above slaternents 7 (a)
fa) Only white cars are parked here, [ S———
M |
{b) Bome while X-brand cars with I
radial tyres are parked here.
_ ’r ;
{¢Y Cars other than X-brand cannot {e) I
have radial tyres, .
td) Most of the Xbrand cars are _ A
manufaciured before 1986.. td} ——
. Consider-the fullowing statement -

. Consider the f; ::rwmgq H.tammt 46. Consider the following information
The Third World War, if it ever Ftarts, regarding the performance of a .class of
will end very guickly with the posagible 1600 students in four different tegts
€nd of civilization. It is only the misnsze of = -
nuelear pewer which will frigger it, Tests i oI
Based on the ahave staternent, which one Average mar ks | 80 | 60 | 70 | 80
of the following inferences is correct Range of aarks 30 | 45 | 20 | o
{a} Nuclear power will be used in ths to e P ote tn -
{; There will be no eivilizstion left If 2 student scores 74 marks iu each of

after the Third World War, the four tests; in which one of the
fmllmﬁng tests is her performance the
fe} The growth of nuclear puwer  will best comparatively ?
destroy civilization in the long run. {a) Tost 1
_ _ {b) Test I
{d} The Third World War will Fﬂt taks fe) Test I[I
place. (d) TestIV
Q-MOF-M-8 { 26 - A}

L3




43,

44,

G-MOF-M-B

Errfefiag e W Wer @i5e

v, adt e g W Xeaie w wea

g, 39 Y oY Yiow TR €

3. 1086 % @ & I X-gis awl # YEuw
rapeeati

s aR st xEs A

TEFE T B AR W Prefeifam & 9
-t o et freen & wwer § 7

() Tk oz o wd mouk €

(b}
fagdtud 8

() XFE BN ¥ R wa ol 8§ Vg
1o o @ g gen i

(d)
TR B E |

Camafae v W TR it

'qﬁqﬁaﬁﬁg@aﬁaﬁ@m%ﬁaﬁ

dvae Tl & 3 CE Y S Fe W
& s 1 3% Aty wiRe @ geTEm & Mia
T

wde w9 B owER W, Frefafe AW

s o Bl e e 7

(a) v R g F b TRn an |

Ern i i

o) Faa e gE ¥ wgam A W 9
ERa il

@ afrw uis v fEw doad wmu |

W A% @ e |
4y gad fexg gg A § A

T Wb X@EHWEW‘@%&HW'@'.

R XegE BR @ Jees 1996 ¥

145.

46,

{27 — A

i o e BRGT Frm B aFER aRal
b

AW | |
LD e

¥

e Frt 85 e, PR ¥ @ -w R
sy BT, o wRads 34 Fraw & oTER SR
® 7

hi
[CY N S
o L

Brofefire wroh ¥ 1000 BE B @ SR W
o Bra-fm efeot 4 ey e e
LSO} I 1t o | w
sheqsim | 60 | 60 | 78 | 80

st & | 30 45 1 2h i}
E:| £l Gl Ei
90, 75 f 100 | 100

o B w3 A wiem A T4 3 WA
frr 3, A goels o ¥ Iwe R
FrBiaa o & F ey O e o7 ?
fa) ﬂ'ﬁHUII

(by wdiEwr 1l

ey et 11

(d) e IV




47.

48,

Q-MDF-M-B

Six squares are coloured, front and back,
red (R), biue (B} yellow {Y), green (D),
white {W} and orange (0) and are hinged
together as shown in the figure given
bélow. If they are folded in form = fube,
what would ba the face opposite the white
face ?

. BRiB
GIYIO
W
ta) R
b} G
e} B
@ ©

In the above figure, circie P Tepresents

hardworking people, efrcle Q) represenis |

intelligent people, circle R represents
truthful people, and direle 8§ FRETesents
bonest’ people: Which. rewion repiesents
the peaple who are intelligent, hanest and
truthful gt nok hardworking ?

{a) &
(b} 7
(e} 8§

{id) i1

50.

{28 -« A}

49,

Three views of & cube following &
particular motiorr are given below

What is the letier apposiie ta A7
tay H
{(hy P
{c} B
d; M

D@ €

o
» ©

Which one of the figures shawn balow

OB P

oceupies the blank space %) in the matrix

given above ?

(a) @
{b) @ ,
{e) @
(dy @
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Directions for the following € (sixi items :

Bead the following fo possages and
answer the items that follow each. passoge.

Your answers .o these items should be |

based vn the passages vnly.

The poor especially in  markst
econemics, nced  the. stremgth  that
coliectivities offer [or creating more
econoinie, sodial and political space [or
themselves, for
socio-eeonomic well-being and voice, and
8% & prolection against frec market

enhanting their

individuabism. It has beon argusd that a 5

group approach to larming, especially in-
the formm of hollom up agricuitural
production collectivities, offers substantial
scope  for alleviation  and
-empowernng the poor as well as enhancing
agricultnral productivity, T realiso this
petential, however, the groups would need’
te be volontary in hature, small in size,
participative i decision making and |
equitable in work sharing and beneflit
distributien. There are many. notable
examples of such collectivities to be. found

poverty

in wvaried contexts, such 48 in  the
transition economies. Al of them bear
witness kb the possibility of swpecessful
cocperation under given conditisms. And

are -unceriain, the Indian examples of
groups farming  offer
considerabie potential  for benefiting

women-only

{SD—A}

51, Ag‘r’icuitura'] coliectivities such as group

based farming can provide the rural poor

1. empowerment,

2. increased agricuttural productivily.

3. safeguard against exploitative markets.

4, surplus  production. of agriculturs)
commiodities. '

Select the correct answor using the codes

given below @

fa) 1,2, 3 and 4

(b 1, 2 and 3 only

() 2 and 4 .only

()} 1, 3and 4 only

What ddes the aunther imply by “pendar

impact” ?

{&). Women are doubtful participants in
coaperatives.

(b Family cooperatives may not include
WITeIL.

e} Women
farming.

(d} Women's  role  in {ransition
seonoemyies is highly resirictive.

benefiting  from  group

Consider the following assumptions ;

1. It is imperative for transition
economies  to  have agriculfural
collectivities.

2. Agricultural produclivity can be
Jinereéased by group approach to
farming.

With reference to the abave passage,

which of these assumptions is/are valid ?

fay 1 {m]fy

(bt 2 only

{fe) Both.1l and 2

(d} Neither 1 nor'2
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Passape — 2

In a typical Western liberal

context, deepening of  demoeracy
invariably leads to consalidation of ‘Hber:al
the

democratization iz transiated intp greater

valuez. in Indian

invelvement of peeple not ag ‘individuals’

which is a staple te libera] discourse, but

's communities or groups. Individuals are
getting involved in the public sphere not
as ‘atomized’ individuals but ag members
of  primordial  communities drawn  on

religious ar caste identity.
Community-idenfity seems to be the
gaverning foree. It iz not therefore
surprising that the so-called peripheral
groups  continne  to their
identities with gaciad

groups {caste, religion or sect) to which

maintaiki

relerence f{o .tho

they belong while getting invelved in the
politieal processes despite the fact thst
their political guals remain more or Jess
identical. By helping to articulate the
the

democracy in India has led to ‘a Jossening

political  voice of marginglized,
of social atrictures” and empowered the
‘peripharals to be confident of their ability
in which they are placed. This is a
significant political process that had led to
A gilent revolution through 4 meaningfol
transfer of powoer from the upper caste
elites to various suballern groups within
the. democratic  framework of public

pavernaiee.

corilext,

i 32 - A

According to the passage, what does
“geepaning of demeeracy” mean in the
Western confext ?

(a) Consolidation of group and class
identilies.

(hy Dernoeratization transiated T
greater involvement of people.

{c} Democratization as greater
involvement of ‘atomized’ individuals
in the public sphere,

{d) None of the statements {a), {b) and

ey given above is eorrest in this
gonlext,

Crreater democratization in India has mot
necessarily led to

{a} the dilution of caste and communal
ideritities in the publie sphere.

(b} irrelevance of commuanity identity as
a governing foree in Indian pelities.

(e} marginalization of elite groups in
soiety.

{dy relative unimporiance of hereditary

identities over class identities,

What is the “silent revolutiont” that has

oceurred  in the Indian  democratic
process 7
{u) Irrelevance of caste and class

hierarchice in political processes,

(b} Loosening of social sirietures in
voling behaviour and patioras,

{¢} Sorial change through transfer of
power from upper cddte elites to
subaltein groups.

(d} All the statements {(a), (b} and {c)

miven above -gre correct in this
context.
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Directions for the following 5 {five} ifems ;

5.

58,

a9,

Q-MDE-M-B

b}

Examine the Information given in the
fotlowing paragraph and answer the items
that follow

{iuest lectures on five suhjects viz.,
Fconomics, Histery, Statistics, English
and Mathematics have Lo be arranged in &
week from Monday to Friday. Only one
teeture can he arranged on each day.
..... canunet  he scheduled
Tuesday, Guest faculty for History is
available only on TFuesday. Matheratics
lecture has to be scheduled immediately
after the lecture,
English lectare. has to be scheduled
immediately before the day of Eeonomies
lecture,

LN

day of Feonomies

Which lscture is scheduled o Menday ?
(a) History

(b} Economigs

{e)
{d)

Mathematics
Statisties

Which lecture is scheduled between
Statistics and Foglish ?

(a}
{b}
{c)
{d)

Econiomics
History
Mathematics
No lecture

Which lecture s
week 7

the last one in the

History
English
Mathematics

{a)

(e}
(d)

Eeononiics

G0,

61,

62.

63.

{34 - A}

h).

L | SRS . - :

Which lecture iz g#cheduled

Wednesday 7
(a) Statistics
(b} Bronemics
{c} English
(d} History

Which leciure is scheduled before the
Mathematics lecture ?

{a} Economics

LITEN

{b} History

Statistics
English

{c}
{d}

Two glasses of equal volume are
respectively half and three-fourths fillad
with milk. They nre then filled to the
brim by adding water. Their contents are
then poured into anwther vessel. What
will be the ratio of milk to water in this
vessel ¥

{4} 1:3
b} 2:3
{ty 8.2
dy 5:3

Consider the following sialements :
1. All machines consume energy.
2. Electrivity provides énergy.

-8, Electrically operated machines are

cheap to maintain.

4, Electrically operated muachines do not

cause pollution.

he drawn from the above siatements ?
(a)

All machines are run by electric
eNnergy.

There is no formi of energy other:
than electrizity.

Most machines are operated on
electric energy. .
Electrically cperated machines are
preferable to use.
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65.

d-MOF-14-B

Exam‘ifﬁe‘ the ﬁ}ﬂnwing statements -
L. Nane but the rich can afford sir-travel.

2. Some of those who travel by air become
gick.

3. Some of those who become siek require

treatmant.
Which one ‘of the following conelisions
gan be drawn from the above statements 7

(a) All the rich persons travel by .air,

(b} Those who travel by air Become

sk,
{¢) Al tho rich persons bocome sivk,

(d} Al those who travel by air are rich.

In five flats, one above the ather;, Hve five
professinnals. The profeszor has to B0 UR
te meel his TAS officer friend. The doctar
15 equally friendly 1o 41, and has to go up

as frequently as go down. The engineer !

has 1o .go up to meet his MLA friend

-above whose flat lives the professor’s

friend.

From the ground Hoor to the top floor, in |
what ‘order do the five profussionals lve ?

{1) Engineer, Professor, Docter, [AS

officer, MLA

(hy  Prolessor, Enginecr, Doelor, IAS

officer; MLA

ey JAS officer,
Professar, MT.A

Engineer, Duefor,

(dy IDrafessor,
IAS officer

Engincer, Docior, MLA,

Bireations.

for the following & feighty

ttems :

66.

{36 - A}

The follmeing eight items {guestions
66 tn 73] rire bused on three POsSsages in
English to test the comprehenzion of
English languuge and ilherefore these
items do not Rave Hindi version. Read
each passage and ansicer the ifems that
fodlon.

Passage - 1

For fourteen and a hall rmonths I Hved
in my Little cell or yoom: in the Delivadun
Jail, and 1 began to feel as i | was almost
a part of it. T was familiar with every hit
of i, { kitew every mark and dent on the
whitewashed walls and on the uneven
floor and the ceilipg with its meth-eaten
rafters. In the litile yard ootside I preeted
litile ‘tuifts of grass and odd bits of stene
as old friends. 1 was not alone in ary cell,
for séveral cclonics of wasp and hornets
ltved there, and many lizards {ound o
home behind the vafters, emerging in the

gyenings in search of prey,

Which of the following explains best the

sentence in the passage ™! was almost 5 -

part of it* ?

(a} Iwas not alone in the gell.

(B) 1 was familiar with every bit of the
cedl,

fe} T greeted little tufts of prass like nld
friends,

(d) 1flt quite at home in the cell.
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Passage -1

For fourteen ard a half months I lived
in may liltle coll or room in the Dehradun
jail, and I began to feel as if | was nlmeost
a part of it. | was familiar wifh every bt
of it, | knew every mark ang
whitewdshed walls and on the uneven
loor. and the ceiling with ifts moth-eaten
fittle tufts of grass and odd bits of stone
as old friends. [ was not along in my cell,
for several colonies of wasp and hornets
lived there, and many lzards found a
tiome behind the rafters, emerging in the
evenings in search of prey.

Which of the following explains best the:
sentence in the passage “I was almost &
part «f it" 7

{z) 1 was not slone in the cel.

(by | was familiar with every hit of the

cell.

te) I grocted little tufts of grass like ald
friends.
rdy I fett quite at home in the cell
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{a}

The passage attempls to describe

the. general
country’s jails.

(e rorrditions  aof  the

(b} the prisoner’s capacity to notice the

te)

the prisoner's censcious efforts to

overcome the loneliness.

fd] fhe primaner’s ability to Hive happily

with gther creatures,

The author of the passage seems to
suggest that

it i3 possible to admst onesell to
uncongenial surroundings.

(b} the ronditions in Indian prisons are
not, bad.

it is not difficult to spend one’s time
in a prison.

(¢}

(d) there is & need to improve the

eonditions in our jatls.

Passage - 2
We starled pitching the highest
that
Everything took five times as lohg as it

camp has  ever been made.
would have taken in s place where there
wag enpugh air Lo breathe; but at last we
got the fent up, and when we ¢rawled in,
it was not too bad, There was only a light
wind, and inside it was not too cold for us
to take off cur gloves. At night most

zlimbers take off their boots; but I prefer

‘to keep them on. Hillary, on. the other

hand, took his off and laid them next to
his slceping bag.

64.

70,

71.

{ 38 - A}

e}

What does the expression “pitching the
highest camp” 1mply ?

(a} They reached the summit of the
highest meuntain in the worid.

{bj Thoze who clitnbod that far garlier
did not pitch any camp.

{e} So far nobedy has ever climbed that
high.

{d) They were toe many climbers and

neaded to pitch a big camp.

-

They took a long time to finish the waork
heeause

fa} tﬁé:r' weare very tired.

R} there was not enough air to breathe.

it was very cold,

td) it was very dark,

Whern they crawled into the tent

ta) they took off their gloves because it
was not very cold,

by thoy eould not take off their gloves
because it wag very cold.

{¢y  they took off their gloves though it
was very cold,

fdy they did not take off their gloves

though 31 was aol eald.
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The passage attempts to deseribe

{a) the of the

country’s jails.

gensral  conditions

(b) tho prisoner’s vapacity te potice the

minute details of his sorroundings.

tc) the prisoner’s conscious cfforts te

gvercome the loneliness.

{d
with other creatures,

The authar of the passoge seems (o

auggest that

(a;
auncongenial surrovndings.

{b) the conditions in Indian prisons are
nat had.

fe) it is not difficult to spend one's time
in B prison.

)

there is a need to improve the
conditions in our jails

Passage -2
We started pitching the highest

that
Bverything -tock five times as lang as it

camp haz  evir  been  made
wotld have taken in a place where there
was enough air io hréathe; but at last we
got the tent up, and when we crawled in,
it was not toe bad. There was only & light
wirnid, and inside it was not toe cold for us
1o take off our gloves. Al night most
elimbors take off their hoots; but [ prefer
to keep theme on. Hijlary, on the otber
hand, tock his off and laid them next to

his sleeping bag.

the prisoner’'s ability to live happily’

it is possible te adjust oneself to

6%,

70.

Tl

(39 - A

‘What does the expression “pitching the

highest camp” imply 7

(d) They reached the sumimit of the

highest mountain. in the world.

Thoze who climbed that far earlier
did not pitéh any camp.

(b)

S far nobody hay ever elimbed that
high,

(e}

They were too :ﬁan_}r climbers and
neaded to piteh a big camp.

{d}

They took a long time to finish the work
breeaunse

{a) they were very tired.
(b} there was not enough air to breathe.
it was very cold.

{c

{4} it was very dark.

When they srawled into the tent

{a) they took off their gloves bacause it

was nat very geld.

(b) they could not take off their gloves

hecause it was very cold.

they took off their gioves though it
was very cold,

{c]

they did not take off their gloves
though it-wag not cold.

(d)

-
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A Teetaes,

Passage -3

A lpcal man, staying on the fop
old
awakened at midpight by 4 fire. Losing

floor of an wgoder, house, was
his way in a smuoke-filled passage, he
miszed the

another room. He picked up = bundle 1o

stairway and ‘went into

protect his face. from the fire aad
iwnmedistely fell through the floor below

where be managed to escape through al

cledr dodrway. The “bundle” proved io be
the baby of the Mayor's wife. The “hero”

was congratulaled by all.

{(a) he did not know where gxacily the
stalrway was..

(b}

the pazsapge was full of smoke,
fv) he wag oxtremely nervoas.

he stumbled on & bundle.

(d}

The man was calied a hera becavde he

expressed. his willingness (o risk his

fa)

life to save others.

{b) managed to escape from the fire.

(¢} showed great courage in fighting the

ire.

{d)

gaved a life,

!

Directions for

the following 7 (seven)

itenns

4.

i

P ad - A

(GGiven below are seven ifems. Eack iem
deseribes w situation and is fellowed by
four possible responses. Indicate the
"""" appropriate.
Choase only one response for each item.
The responses will be evaluated baised on
the level of appropricteness for the gluen
stiuaiion.

Please attempt all the items. There is
nae pendlly for wirong ansivers for
these seven ifems.

You have differences of opinion regarding
ithe -final report prépared by your
subordinate that is to be submitted
urgently. The subordinate is justifying
the information given in the report. You
would,..

(a; Convince the subordinate that he is
Wrong.

(b} Tell him t6 reconsider the results.

{e} Revise the reéport on your own.

{d}  Teli him not-to justily the mistake.

You are compsting with your batch-mate
for a prestigious award to be decided
hazed on an oral presentation, Ten
minutes are atlowed Tor  each
presentation. You hdve been asked by the
committec o finish on time, Your friend,
howsever, ia allowed more than the
stipulated time period. You would. .,

ia) L_u d_ge a commplaint £ the
chairpefson agamst the
sHserimination.

() Not listen to any justificalion from
the commitiee.

e} Ask for withdrawa! of vour name.

(d}y Irotest and leave the place.
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Passage - 3
A local man, staying on the top

floor of an old woeden houge, was
awnkened zt midhight by a fire, quéng
his way in a smcke-filled passuge, he
missed the stairway and went into
another room, He picked up a bundle to
face from .lhe

immediately fell through the floor below

protect  his

where he managed to escape through &
clear dourway. The “bundle” proved to be
the baby of the Mayor's wife. The “hera”

‘was congratulated by all.

The man went inte another room because

(a) he did not know where exactly the

stairway was.

(b) the passage was full of smoke,

he was extremely nervous.

{c}

(dy he stumbled on a bundle.

16 mian was called a hero because he

{a}
life to save pthers.

{b} managed to escape from the fire.

(¢} showed great courage in fighting the

fire.

{d} gaved a life.

fire -and

expressed his willingness to tisk his

74,

0.
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You are handling a time-bound project.
During the project review meeting, vou
find that the project ts Dikely to zel
delayed due tv lack of cooperation of Lhe
team members. You would...

Warn the tesm members for their
non-cooperztion,

fa}

Look into reaseng for
non-cooperation.

i{h}
(c) Ask for the replaccment of toam
members.

€} Ask for extension, of timce citing
TEALONS.

You are the chairperson of a stale sports
commiittée. You have reccived a complaing

and later it was found thrt an athlete in |-

the juvier age category whe has won a

-medal hag crossed the age criteria by
B days. You would...

I

fa) Ask the screening commiifes for 4
clarifieation,

tb)  Ask the athlete to return the medal.

{c} Ask the .athlete to get an afflidavit
from the eourt declaring histher age,

td
eommities for thelr viows,

You are handling a priotity project and
have been meeting all the deadlines and
are therefore planning your leave during
the project. Your immediate boes does not

grant your leave citing the urgenecy of the

project. ¥ou would..,
‘@l Proceed on leave without waitin
the sanctien.

b}

(e)

Pretend 1o be sick and take leave.
Approach higher  authority o
reconsider the leave application.

(d) Tell the boss that it i not justified,

A

, 80,
Ask  the members af the E:j:_lﬂl"{ﬁ

(42 - A}

You are invelved. ip seiling up a water
supply prdject in a remote area. Full
recovery of cost iz impossible in any
case, The ineomse levolz in the ares are
law and 25% ef the pdpulation is below
poverty ling (BPL). When a decigion has
to be taken on pricing you waild...

Recommend that the supsly of water
be free of charge in ull respects.

{a}
(b} Hecommend thal the uzers pay & one
time Tixed sim for the installation of
taps and the usage of water he free,

Recommend that a fixed monthly
charpe be levied enly on the non-BPL
families and for BPL families water
should be {ree.

{c)

Recommerid that the usess pay a
charge baset on the consumption of
water with differentiated chargos for
ton-BI'L and BPL families.

(d)

As g cilizen you bave some work with
a guovernment department. The official
valls vou apain and again; and withoat
directly asking you, sends out feslers
for a bribe. You wsint to get your work
dofie. Yeu would .,

]

fa) Give a bribe,

(by Behave as i’ vou have nel understood
the feelers and persist with your
appheation.

(ci Go to the }ug'i"ﬁt‘ oificer for help
verbally complaining ahout feelers.

{d} Bend in a formal complaint.
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